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Linearized knot diagam
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Solving Sequence

6,10>11>5->12-4—>1—>9—>3—>8 >7—> 2> C1,C7
Cilp €5 Ci1 €4 Ci2 C9 C3 Cg Cg C2

A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4 = 3u+1)

* 1 irreducible components of dim¢ = 0, with total 90 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u®—u®+... —3u+1)

(i) Arc colorings
e (1)
ai = )

(u4—|—2u)
ud —|—2u
a4 = ud 4 u
w +5u8 + 8ub +3ut —u? +1
u10+4u + 5u’ 4+ 2u* + u?

3ut — 242 +1>

ag = —u® — 4u8 — 4u?

as = u19 + 907 + 32015 + 55ut3 + 43wt + 9u® +4ud +ud +u

w1300+ —u2 41
u?® + 12026 + ... 4 2u6 — 3ut

— 26U 4+ 2 —u
—25u®® 4+ -+ 3ub 4 u

(u46+21u44—|—-~-—|—6u4—|—1 )

wl” + 8ul® + 25ul3 + 36wt + 190 — 4u” — 2ud + 4u + u>

ag —
a7 =
a9 =

u®® 4+ 22016 4 - 4 2t 4 202

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 4u8® + ... 4+ 20u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq w9 +294% + - w1
C2,C7 w4 w1
Cs u? +u® + -+ 5329u + 2941
€a u? —u® - 1lu+ 1
Cs5, €105 C11 w0 +ut? 4 3u 1
Cs u? —5u® w1
Co w9 — 1948 + .- — 88451u + 4523
Cra u? + Tu 4 -+ 941u + 55




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 Y% +65y% + - 45y + 1
C2, 07 0 29 4. by 41
& y%0 — 27y 4 ... — 251343687y + 8649481
Cy4 ¥ £ 5y%0 . ATy 41
Cs,C10, C11 Y0+ 81y 4y +1
cs y90 8 29y + 1
Co y?0 + 2955 + - + 330837793y + 20457529
c12 y%0 + 138 + .- + 155009y + 3025




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
u = —0.092360 + 0.9904861 —0.19734 — 2.093711 0
u = —0.092360 — 0.9904861 —0.19734 4+ 2.093711 0
u = —0.174167 + 1.0658401 —2.74452 4 3.556941 0
u = —0.174167 — 1.0658401 —2.74452 — 3.556941 0
u= 0.109638 + 1.1031001 1.18483 — 1.774661 0
u = 0.109638 — 1.1031007 1.18483 + 1.774661 0
u = —0.208911 4 1.1052701 2.33069 + 9.150311 0
u = —0.208911 — 1.1052701 2.33069 — 9.150311 0
uw= 0.196314 + 1.1168707 3.28147 — 3.513531 0
u= 0.196314 — 1.1168701 3.28147 4 3.513531 0
u= 0.708793 + 0.2994941 1.68759 — 12.589007 | —1.92424 + 10.407431
u= 0.708793 — 0.2994941 1.68759 + 12.589007 | —1.92424 — 10.407431
u = —0.703274 + 0.3015351 2.64941 4+ 6.814811 | —0.10297 — 5.635701
u = —0.703274 — 0.3015351 2.64941 — 6.8148171 | —0.10297 + 5.635707
u = 0.700545 4 0.2822191 —3.78579 — 6.942461 | —7.67165 4 8.009261
u = 0.700545 — 0.2822191 —3.78579 4 6.942461 | —7.67165 — 8.009261
u = —0.678301 4 0.2879331 0.05334 4 4.692271 0.02736 — 6.791141
u = —0.678301 — 0.2879331 0.05334 — 4.692271 0.02736 4 6.791141
u = 0.384609 4 0.6257401 2.97480 + 8.708451 0.78880 — 5.179751
u= 0.384609 — 0.6257401 2.97480 — 8.708451 0.78880 + 5.179751
u = —0.646374 + 0.3287781 4.40452 + 4.078781 2.14162 — 6.139261
u = —0.646374 — 0.3287781 4.40452 — 4.078781 2.14162 4 6.139261
u= 0.677349 + 0.2492291 —1.86025 — 1.156321 | —5.97482 4 1.584221
U 0.677349 — 0.2492291 —1.86025 4 1.156321 | —5.97482 — 1.584221
u = —0.386229 4 0.6090307 3.89211 — 2.966811 2.65198 + 0.236691
u = —0.386229 — 0.6090307 3.89211 + 2.966811 2.65198 — 0.236691
u = 0.633442 4 0.3355571 3.95811 + 1.656511 1.36233 + 0.569441
u= 0.633442 — 0.3355571 3.95811 — 1.656511 1.36233 — 0.569441
u = —0.677616 + 0.1975131 —2.43312 4 5.366971 | —7.06462 — 7.356841
u = —0.677616 — 0.1975131 —2.43312 — 5.366971 | —7.06462 + 7.356841




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u= 0.031544 + 1.2954901 5.21152 — 2.649801 0
u = 0.031544 — 1.2954901 5.21152 + 2.649801 0
u=0.322486 + 0.6201731 —2.39255 + 3.218041 —4.96336 — 2.890691
u=0.322486 — 0.6201731 —2.39255 — 3.218041 —4.96336 + 2.890691
u = —0.669378 4 0.1479931 —5.42459 — 0.274781 | —11.47130 — 0.265281
u = —0.669378 — 0.1479937 —5.42459 4 0.274781 | —11.47130 + 0.265281
u = —0.673819 + 0.1032907 —0.64886 — 5.800421 —5.73200 + 4.099411
u = —0.673819 — 0.1032907 —0.64886 + 5.800421 —5.73200 — 4.099411
u= 0472908 4 0.4710391 4.58313 — 5.288811 3.03353 4+ 6.590171
u= 0.472908 — 0.4710391 4.58313 + 5.288811 3.03353 — 6.590171
u = —0.455824 + 0.4861011 5.13756 — 0.428611 4.31086 — 0.882451
u = —0.455824 — 0.4861017 5.13756 + 0.428611 4.31086 + 0.882457
u = 0.655716 4+ 0.0967231 0.258872 + 0.2713671 | —4.04834 4 0.938691
u = 0.655716 — 0.0967231 0.258872 — 0.2713671 | —4.04834 — 0.938691
u = —0.237515 4 1.3201401 3.78695 — 2.519251 0
u = —0.237515 — 1.3201401 3.78695 + 2.519251 0
u= 0.216994 + 1.3271501 4.68022 — 2.8544271 0
u= 0.216994 — 1.3271501 4.68022 + 2.854421 0
u = 0.130514 + 0.6404901 —0.18588 — 2.200591 —2.47638 + 3.418321
u = 0.130514 — 0.6404901 —0.18588 + 2.200591 —2.47638 — 3.418321
u=0.621324 + 0.1945321 —1.33310 — 1.056117 —4.15239 4 1.373521
u= 0.621324 — 0.1945321 —1.33310 4+ 1.056117 —4.15239 — 1.373521
u = —0.251712 4 1.3497201 —0.70074 + 3.048671 0
u = —0.251712 — 1.3497201 —0.70074 — 3.048671 0
u = —0.336547 + 0.5280391 1.25107 — 1.132121 3.66694 + 1.153281
u = —0.336547 — 0.5280391 1.25107 + 1.1321271 3.66694 — 1.153281
u = —0.263703 4 1.3728601 2.54773 4 8.780451 0
u = —0.263703 — 1.3728601 2.54773 — 8.780451 0
u= 0.244027 + 1.3789801 3.69075 — 4.216851 0
u=0.244027 — 1.3789801 3.69075 + 4.216851 0




Solutions to I

V=1(vol + /=1CS)

Cusp shape

0.167948 + 1.4024101

4.84787 — 3.568371

0.167948 — 1.4024101

4.84787 + 3.568371

= 0.26458 + 1.400361

3.40298 — 4.583231

= 0.26458 — 1.400361

3.40298 +4- 4.583231

= 0.12081 4 1.420711

3.80098 4 1.719481

= 0.12081 — 1.420711

3.80098 — 1.719481

= —0.14262 + 1.423051

7.25500 + 0.671841

= —0.14262 — 1.423051

7.25500 — 0.671841

= —0.26571 4 1.415351

5.49670 + 8.137581

—0.26571 — 1.415351

5.49670 — 8.137581

= 0.27503 + 1.414331

1.63219 — 10.494301

= 0.27503 — 1.414331

1.63219 + 10.494301

= —0.12638 4 1.440271

10.26750 — 1.233751

= —0.12638 — 1.440271

10.26750 4 1.233751

= 0.12126 + 1.441081

9.40156 + 7.032911

= 0.12126 — 1.441081

9.40156 — 7.032911

= 0.24469 + 1.426921

9.59469 — 1.562401

= 0.24469 — 1.426921

9.59469 + 1.562401

= —0.16537 + 1.438821

11.22680 + 1.830581

= —0.16537 — 1.438821

11.22680 — 1.830581

= —0.24986 + 1.426581

10.02060 + 7.360061

= —0.24986 — 1.426581

10.02060 — 7.360061

0.17139 + 1.438841

10.64090 — 7.635011

= 0.17139 — 1.438841

10.64090 + 7.635011

= —0.27478 + 1.422811

8.16280 + 10.377301

= —0.27478 — 1.422811

8.16280 — 10.377301

= 0.27732 + 1.422481

7.1924 — 16.17931

jen] Hen) Hen) Hen] o) Hen] Jen] fev) Ren) Jen) Hen] Hen] Hen) Jov] Ren] Heo) Hen) Hen) Hen) N o) Hev] Hev] Jev] Heo) Hen] Hen) en)

= 0.27732 — 1.422481

7.1924 4 16.17931

0

0.431223 + 0.3245761

—0.62645 — 1.335951

—2.95240 + 5.885771

0.431223 — 0.3245761

—0.62645 4 1.335951

—2.95240 — 5.885771




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cg w0 +29u%0 + . fu+1
C2,C7 w4+ —ul
€3 u® 4+ uB 4 53290 + 2941
€4 u — 4 1l 1
C5,C10,C11 w4+ u o+ 3u+1
8 u? —5u® w1
€9 u? — 19u® + .- — 88451u + 4523
C12 w0 + 7u® + -+ 941u + 55




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Co y? +65y% + -+ 5y +1
C2,C7 y0 429+ 4y +1
s y%0 — 2798 ... — 251343687y + 8649481
4 g 4 5y% 4. — 4Ty + 1
C5,C10, C11 yP 481y -y 1
c8 Yy 429y + 1
€9 y%° + 29480 + ... 4 330837793y + 20457529
c12 y% 4+ 13y%° + .-+ + 155009y + 3025




